

value of the Riemann zeta function at $s = 0^*$

Wkbj79[†]

2013-03-21 20:56:24

Theorem. Let ζ denote the meromorphic extension of the Riemann zeta function to the entire complex plane. Then $\zeta(0) = \frac{-1}{2}$.

Proof. Recall that one of the formulas for the Riemann zeta function in the critical strip is given by

$$\zeta(s) = \frac{1}{s-1} + 1 - s \int_1^{\infty} \frac{x - [x]}{x^{s+1}} dx,$$

where $[x]$ denotes the integer part of x .

Also recall the functional equation

$$\zeta(s) = 2^s \pi^{s-1} \sin \frac{\pi s}{2} \Gamma(1-s) \zeta(1-s),$$

where Γ denotes the gamma function.

The only pole of ζ occurs at $s = 1$. Therefore, ζ is analytic, and thus continuous, at $s = 0$.

Let $\lim_{s \rightarrow 0^+}$ denote the limit as s approaches 0 along any path contained in the region $\operatorname{Re}(s) > 0$. Thus:

**(ValueOfTheRiemannZetaFunctionAtS0)* created: *(2013-03-21)* by: *(Wkbj79)* version: *(38190)* Privacy setting: *(1)* *(Theorem)* *(11M06)*

[†]This text is available under the Creative Commons Attribution/Share-Alike License 3.0. You can reuse this document or portions thereof only if you do so under terms that are compatible with the CC-BY-SA license.

$$\begin{aligned}
\zeta(0) &= \lim_{s \rightarrow 0^+} \zeta(s) \\
&= \lim_{s \rightarrow 0^+} 2^s \pi^{s-1} \sin \frac{\pi s}{2} \Gamma(1-s) \zeta(1-s) \\
&= \lim_{s \rightarrow 0^+} 2^s \pi^{s-1} \left(\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \left(\frac{\pi s}{2} \right)^{2n+1} \right) \Gamma(1-s) \left(\frac{1}{(1-s)-1} + 1 - (1-s) \int_1^{\infty} \frac{x - [x]}{x^{(1-s)+1}} dx \right) \\
&= \lim_{s \rightarrow 0^+} 2^s \pi^{s-1} \left(\frac{\pi s}{2} \right) \left(\sum_{n=0}^{\infty} \frac{(-1)^n}{(2n+1)!} \left(\frac{\pi s}{2} \right)^{2n} \right) \Gamma(1-s) \left(\frac{1}{-s} + 1 - (1-s) \int_1^{\infty} \frac{x - [x]}{x^{2-s}} dx \right) \\
&= \lim_{s \rightarrow 0^+} 2^s \pi^{s-1} \left(\frac{\pi}{2} \right) \left(1 + \sum_{n=1}^{\infty} \frac{(-1)^n}{(2n+1)!} \left(\frac{\pi s}{2} \right)^{2n} \right) \Gamma(1-s) s \left(\frac{-1}{s} + 1 - (1-s) \int_1^{\infty} \frac{x - [x]}{x^{2-s}} dx \right) \\
&= \lim_{s \rightarrow 0^+} 2^{s-1} \pi^s \left(1 + \sum_{n=1}^{\infty} \frac{(-1)^n}{(2n+1)!} \left(\frac{\pi s}{2} \right)^{2n} \right) \Gamma(1-s) \left(-1 + s - s(1-s) \int_1^{\infty} \frac{x - [x]}{x^{2-s}} dx \right) \\
&= \left(\lim_{s \rightarrow 0^+} 2^{s-1} \pi^s \Gamma(1-s) \left(-1 + s - s(1-s) \int_1^{\infty} \frac{x - [x]}{x^{2-s}} dx \right) \right) \left(\lim_{s \rightarrow 0^+} 1 + \sum_{n=1}^{\infty} \frac{(-1)^n}{(2n+1)!} \left(\frac{\pi s}{2} \right)^{2n} \right) \\
&= \left(2^{0-1} \pi^0 \Gamma(1-0) \left(-1 + 0 - 0(1-0) \int_1^{\infty} \frac{x - [x]}{x^{2-0}} dx \right) \right) \left(1 + \sum_{n=1}^{\infty} \frac{(-1)^n}{(2n+1)!} \left(\frac{\pi \cdot 0}{2} \right)^{2n} \right) \\
&= \left(\frac{1}{2} \cdot 1 \cdot \Gamma(1) \cdot (-1 + 0 - 0) \right) \left(1 + \sum_{n=1}^{\infty} 0 \right) \\
&= \frac{-1}{2}.
\end{aligned}$$

□